

(2)

III : TRANSISTOR EQUATIONS :

$$\boxed{I_E = I_C + I_B} \text{ — (1)}$$
$$I_E = I_{PE} + I_{nE}.$$

$$I_C = \beta I_{nE} + I_{CO}$$

$$\text{or } \boxed{I_C = \alpha I_E + I_{CO}} \text{ — (2)}$$

[Defining $\gamma = \frac{I_{nE}}{I_E}$; $\gamma = \text{Emitter Efficiency}$]

$$\alpha = \beta \gamma$$

$$\alpha = \frac{I_C - I_{CO}}{I_E - 0}$$

$$= \frac{\Delta I_C}{\Delta I_E}.$$

$\therefore \alpha \rightarrow$ Current gain in CB mode.

$$I_B = (1 - \beta) I_{nE} + I_{PE} - I_{CBO}$$
$$= I_E - \alpha I_E - I_{CBO}$$

$$\boxed{I_B = (1 - \alpha) I_E - I_{CO}} \text{ — (3)}$$

Defining $\beta = \frac{\alpha}{(1 - \alpha)}$; we can write fourth eqn. as —

$$\boxed{I_C = \beta I_B + (1 + \beta) I_{CO}} \text{ — (4)}$$

(3)

IV. β is called current gain of transistor in CE mode:

In eqn. (4), if we define
 $(1+\beta) I_{CBO} = I_{CEO},$

$$\text{then } \beta = \frac{I_C - I_{CEO}}{I_B - 0}$$

$$\text{or } \beta = \frac{\Delta I_C}{\Delta I_B}.$$

Hence, it is current gain of transistor in CE mode.

Note: The term $(1+\beta) I_{CBO} = I_{CEO}$ is small and is the current that flows when $I_B = 0$

(NOT $I_E = 0$)

